1aa
2,540
20,48

cCm

T=10%
452
923.0

CIn

1ER
16.29
28320

m3

1
0. 004546
0.003735
0,001

ks

gE

L5
HEFE
A

0.0

00254
02043

0. 0001
1
0. 00045
003290

1E-E
1
0. 00001629
0.02832

gal{UK}
220,10
1
08327
0, 2200

(Ex)1gal{lUs)=231in%, 1#7=7.48 gallUs)

kg
1
1000
0.45353
101605
307, 185

0,001
1
0.00045359
1. 0E0GS
0907125

(Ex1tE oS 2 E(0na ton), sh tn 02 Efshort tomd

1]
220452
2204.62

1
2240
2000

HH

Z|

=z

AL [ =)=
HIE

03337
33.37

0.155
1550

144

in3
0.0s102
E1020
1

1728

gal{Us)
264, 2
1.201
1
02642

ton
0.0003342
0.9542
0. 0003464
1
0.83285

ft
003281
3281
005332
1

ﬂE
0.00107E
10,76
0. 005344
1

ﬂﬂ
0. 00003531
35,31
0. 0005 7ET
1

1000
4,546
3,785

sh in
0.0011023
1.1023
0. 00055
1.12
1



9/m3 kg/m>
1 1000
0,00 1
27,62 2TEE0
001602 16.02
(Ex) 1a/cm®= 1t/m>
N dvn
1 1EG
1E-5B 1
9, 806E5 9, B0EERES
4, 44822 4, 44822ER
1, 123265 1,28256E4

{Ex) 1 dyn=1E-5M, 1 pdI{+2E = 1ftIb/s?

kaf/cm? kaf/mm?
1 1E-2
1EZ 1
1.0197E-5 1.M37E-T
10,1972 0.1marz
0. 0004222 4, B82E-R
{(Ex) 1 N/mm?= 1MPa
kgi/cm? bar Pa
1 (1, 920665 . 980EEEES
1.0197 1 1ES
1.0197E-5 1E-5B 1
1.0332 1.01326 1.01326E5
0, 10000 0, 09206 9, 80BERE3
1.25495 1,2332 1,.2332E6H
0.07031 . 05295 £, 895E3

{Ex) 1 Pa =1 HK/m2, 1 bar= 1E5 Pa,

0. 00003613

kaf
0.1marz
1.01372E-E
1
0, 4536
001410

Pa
0. 9306E5ES
0. 9306E5ET
1
1EE
47,86

atm
0.9578
0.9364

0.9359E-5
1

0.09573

1.3158
0.05505

0. 000573

Ib/ft3

B2.43
006243
1728
1
Ibf pdl
0,2248 T.233
2, 248E-E T.233E-5
2,205 70,93
1 327
003108 1
M/mm? Ibf/Tt?
0. 0320665 2048
9, 806E5 2, 048E5
1E-E 0. 02023
1 2,039E4
4, 738E-5 1
mHz O mHg Ibffin2
10,000 0, 7356 14,22
10,197 0. 75m 14,50
1.0197E-4 T.50ME-E 1.450E-4
10,33 0. 7e0 14,70
1 007355 1,422
13,60 1 19,34
0,703 0,051 1

1Ibffin®= 1 psi, 1 Pa = 7.5 E-3 torr (Ex) 1ksi = 1000psi(®E ksi

kips per square inch )



027

0.5144 1,852
0.3048 1.097
0.44v0 1,609

(Ex) kn: E, OIE{ 1 =E=1852m/h

100

0.000101397

1.449E-7

00101373

1.449E-5

1000 110
3206, 55 38, 0665 3. 80655
£.9EE £.9E4 6. 9E3

0101373

1.443E-4

0001422

{(Ex) 1P= ldyn-sfcm®= 1g9/cm's, 1Pa-s= IN-s/m%, 1cP=1mPa's, 1Ibfs/in®= 1Reyn =5 9EGCP

0.0000107E

100
1EG
32300

0001076

10,76

323.0 0.03230

{Ex) 13t=1cmi/s

3,543

(Ex) 1 rad=57.296, , rpm= r/min

IRNER 23834 0. 7376 3.480E-4
2, 343E-3 T.233 9.297E-32
3.EEE 2ETIER 2. BB5EE 2413

4186 4269 1.163E-3 3087
1,356 01283 3. TERE-T
1055 107.6 2. 930E-4

(Ex) 1J=1%-5, 1kgf-m=3,806E5), 1 Wh = 3600 W5, 1 cal = 4,18605 J




s
1
0. 01EER
1E3
1.BEEEEE 1
2TTTTTE-4
283261

KW
1
9.807E-3
0. 7355
0.746
4,186
1.356E-3
1.055

2/ min
B0
1
EE4
1E3
1.BEEERE1
1.63833E3

kaf-m{'s
101,97
1
h
TE.O7
426.9
01333
107.6

P3
1.3536
1.333E-2
1
1.0143
5,691
1.843E-3
1.434

m3/s
1E-3
1.BEEEEE -5
1
1.EEEEEE-2
2TTTTTE-4
2832E-2

HP
1.3405
1.315E-2
0.3353
1
B.E11
1.817E-3
1.414

(Ew) W ST 1 W=1055, Tkafm/5=9806EEY, P3#0HE, HP @ &0

kcal/m-h-C Btu/ft-h-'F
1 06720
1,488 1
0. 3500 05773

CEwxd WAlmekd  SIEER, 1 callith=4, 1868

kcal/m2-h-C Btu/ft%-h-"F
i 0.2048
4,882 i
2,389E-4 4,893E-5
0.8598 0. 1761

(Ew) WAm2KD TSIEHR, 1 cal=4, 18605

m3/min
0.0&
1E-3
B0
1
1.BEEEEE -2
1.69233

kcal/s
02389
2, 23E-32
01757
n17a2
1
3.239E-9
0. 2520

Jfm2-h-¢
4187
2, 044E4
i
3599

m3/h ft3/s
3600 003532
EE-2 0. 00059
ae00 5,31
B0 0.5235
1 0, 00331
101.9 1
ft-Ibff's Biu/s
TATE 0.9430
T.233 9,.297E-32
R42.5 0.E973
aan.2 07072
a7 2,968
1 1.285E-3
e 1
W/ {m-K)
1.163
1.731
1
W/ {m?-K)
1.163
B.ETE
2.7T8E-4

1



4,882

a7

2.044E4

2,389E-4

0,853

(Ewl WTm2 Ky 13152, 1 cal=4.18605 J

4.18605E2

2,35583E-4 2,35883E-4




